
HW12 due, HW13 on web.
Read Along. Sections 26-27.
Riddle Along. Four points form a perfect square in the plane. Prove that you cannot turn that square into 
a bigger one by a sequence of moves of the form (x,y)->(x,2x-y) applied to pairs of points within the four.

1617-257 Wed Feb 1, hour 48: multilinear algebra
January 16, 2017 8:21 AM

   1617-257b-AnalysisII Page 1    

http://drorbn.net/AcademicPensieve/Classes/1617-257b-AnalysisII/one/1617-257_Wed_Feb_1,_hour_48-_multilinear_algebra.pdf

Dror Bar-Natan: Academic Pensieve: Classes: 1617-257b-AnalysisII: 


